## CALCULUS 12 Practice Quiz - Sections 3.1 to 3.3

1) Using the <u>definition of the derivative</u>, find f'(x) of  $f(x) = \frac{1}{\sqrt{2x-3}}$ .

Note: No marks will be given if any other techniques to find derivatives are used.



(4) Find the derivative of the following polynomials.  
a. 
$$f(x) = 6x^{4} + \frac{\sqrt{10}}{x^{2}} - \sqrt{3x}$$
 b.  $f(x) = x^{3} - \frac{1}{\sqrt{x^{4}}} + \pi$   
 $= 6x^{6} + \sqrt{10}x^{2} - \sqrt{3x}$  b.  $f(x) = x^{3} - \frac{1}{\sqrt{x^{4}}} + \pi$   
 $= 6x^{6} + \sqrt{10}x^{2} - \sqrt{3x}$  b.  $f(x) = 3x^{2} + 6x^{2}$   
 $f(x) = 36x^{5} - 2\sqrt{10}x^{-3} - \sqrt{3}$   $f(x) = 3x^{2} + 6x^{-4}$   
( $x^{2} + 1$ )  $f(x) = (3x^{2} - 2x + 1)^{-2}$   
( $x^{2} + 1$ )  $f(x) = (3x^{2} - 2x + 1)^{-2}$   
 $f(x) = (x^{2} - x)(-2x^{3} + 3x^{2})$   
 $+ (3x^{2} - 1)(x^{-2} - 3x^{2} + 2)$   
 $f(x) = (x^{2} - x)(-2x^{-3} + 3x^{2})$   
 $+ (3x^{2} - 1)(x^{-2} - 3x^{2} + 2)$   
 $f(x) = (x^{2} - x)(-2x^{-3} + 3x^{2})$   
 $f(x) = (x^{2} - x)(-2x^{-3} + 3x^{2})$   
 $f(x) = (x^{2} - x)(-2x^{-2} + 3x^{2} + 2x^{2})(x^{2} - 2x + 1)^{-2}$   
 $f(x) = (x^{2} - x)(-2x^{-2} + 3x^{2} + 2x^{2})(x^{2} - 2x + 1)^{-2}$   
 $f(x) = (-6x + 6x^{2} + x^{-2})^{-2}$   
 $f(x) = (-6x + 6x^{2} + x^{-2})^{-2}$   
( $x^{2} + 2x^{-4} + x^{-2}$ )  $f(x) = (-6x + 6x^{2} + x^{-4})^{-2}$   
( $f$ 

4